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No. of Questions/swt ¥ e : 150
 Tome : 2> Hous Full Marks : 450
W:Z%ﬂﬁ] _ , ' | [quites : 450

Note : {h Attempt as many questions as you can. Each question carries 3 (Three) -
marks. One mark will be deducted for each incorrect answer,
Zero mark will be awarded for each unattempted question.
s Tl B T SO W TS Wt | TS 31 3 (W) 3wt Wi
ariw Torw IwT % g oW ofw wET amdm | YRE FERRe T W

STRIE Y |

_ (i) If more than one alternative answers scem to be approximate to the
correct answer, choose the closest one.

IR} it A5 awm ot I ¥ faee Wi o, @t e wft s
1 |

(i) This paper comprises of three Sections : Physics, Chemistry and
Biology. Each section contains 59 questions.
Iy wyAaT W wval o R ;v R, mﬁmu:ﬂaﬁWIW
wvx § 505 € |

(1) ' (TwwOuer)-.
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SECTION-}
uis-]
| PHYSICS
1. The dimensional formula of universal gravitational constant G|
i Tvearen framin Gw st E
(1) [MPLT) (2) [MLT?)
3) M) | @) [MLT?]

.2 lg::‘?fe;m Ad B are such that |4+ Bj=|4~ B| then the angle between
Aand B is-
tgﬁmﬁgfiwﬁmmt& Ji+B{=|d-B wa 7 wer 5 % 7w W

(1) 0 (2) 90° -~ (3) 60° © (4) 180°

3 A car whose mass is 500 kg is moving with a speed of 10 m/sec on a horizonta!
mulnrpathafmdimiﬂmfnrlhemotionofthewwilhmaﬂpphgthéco-
_ emcimg::iwm will be ﬁgnsm‘mc g ; lj}awm!ﬁ)
& ¥R TEWE 500 8eam, €, 20 O JomwR v gt 10 ), /3,
ﬁwgﬁmtmﬁmmmummummcﬁg
g™ of O : . '

(N 0.3 (2) 0.4 (3) 0.5 (4) 0.6

4. The moment of inertia of a body about a given axis is 1.2 kg.m?. T
reiational kinetic energy of lSﬂijﬂemning&omMmgmmm?o:
a =25 rad/sec’ must be applied about that axis for a period of
Reeft fiog w1 gy e & qfer 1.2 R, 2 R ) vl 1500 g i

i Sof 3w @ % o wiofly -
s b o W a=25 WW/A.2 ) W 7E | e o7

(1) 2secR)  (2) 4sec (D) (3)Ssec(R)  (4) 10sec (R)

(2) (Continved)

L]
gcollegedunlae
India’s largest Student Review Platform

T



16U/116/9 (1)

5, A simple pendulum has a time period T, when on earth's surface and 7, when
" taken to a height R above earth's surface where Ris the radius of the carth. The
value of T,/T, will be - .
gﬁmmﬂaﬁmmmm T, aqr gl W R R Fwnd, m Ryt
e §, R A I W e TR A 7,/7, W ue

(1) 4 (2 2 (3) V2 (4) 0.5

6. A satellite orbiting in a circular orbit of radius R completes 1 revolution in
3_hom's.!fmbi&lmdimofmmﬂmmyamlﬂwisﬂﬂﬁﬁlanmmﬂ:evalueof
Ris |
o Iy Py et il Sr-frm R, @ aw o § 36w ama A 1 R
frft wfRtre e & e e o v 42000 Fs. 50, & @ R\ T BT

(1) 9000 km (R 3h,) (2) 10500 km (Re7f,)
(3) 21000 km (f%.A,) " (4) 31500 knm (R R,

7. The time period and amplitude of an object executing simple harmonic motion
are 0.05 sec. and 4 cm respestively. Maximum velocity of the object is
mmmmg:mﬁnm I & 0.05 Jwog t aq w43 R
Rz ® sftmemant -

(1)32=x Wm'(’ﬁ.ﬁ.) (2) 2 = mfsec (R./R,)
(3) 4 mv/sec (ol /R,) (4) 1.6 © m/sec (W,/R,)

8 An inverted vessel (bell) lying at the bottom of a lake 47.6 m decp has 50 cc air
trapped in it. The bell is brought to the surface of the lake. The volume of the

trapped air willbe — - |
*  (Assume that atmospheric pressure is 70 cm of mercury column whose

dmi‘:gl&ﬁgm/m’) : .
@ aﬂﬂ(ﬁmﬁ.w’t4‘?.6:&.1@&_!‘\3&@1’:%1&&son.i.-mgmt-luﬁ-
A ) e & 70 T A AR W I 97 T W A W IR — -

(T i et gE-IR % 70 3,9, W T IR W e 13.6 9, /a0))

(1) 350 cc (TA) (2) 30 ec (WA)  (3)250cc (WR)  (4) 20000 (TA)

(3) ‘ (Twrn Over)
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15U/116/8 (1)

(1) 0.25 (2) 033 (3) 0.50 (4) 0.75

10.A planu.ismohdngammﬂdwminmeﬂipﬂcal orbit. Its closest distance from
MS@-mrmmmdMEkIft[leﬂrbiulvélocityoftheplm
when !::ll;:hm to the sun, is vthen its orbital velocity; when it is firthest to the
Sun wi ' '
RARSRRLE UL R L B R T TR R R S -
R w7 Ry lt&mﬂmm.ﬁammq&tmmt. -ﬁu"’lzaﬁ
W, ¥ A e gl ¥ W o d, e et -

) wvatr - . @ wWEEF .(3)1;3- | 4) p‘[%
ll.ﬁmwﬂdﬁofuchmmmlwmdauhem f uilateral
ﬁmsbABC.Mlormmsmnmmmw;.;L::wdmh

ﬂongthemedianoftheh'img!emdeollideatﬂmmmid(?ofthe '
: ; q triangle. If
after collision pnrﬂcleMngﬂunAoomtomtmdﬂteprﬂcleMing

(2) move along GC with different speed ﬁqunl to speed of particle starting from 3
(3) move with initial speed along GC ' |
(4) move with initial speed along GB

(4) (Contintied)
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a7 wm, e =R o §, sl g ABCH Wt (UBO) R @ & 1
Mwutmwmm%ammaﬁmmmuﬁ
§ o g G, il el s Tt ) et R, T @ 1 AR el &
Wil 4 & wort are-ww fAR W W § 3w B R W aren $ ave 3 fiwm (GB)
& TRWE W ¥ 50T WY @ WOIRRTR B 9 & W C & e wien W

(1)%@#Mmﬁmmim8&wﬁmmﬁmﬂmt
{2)%Mﬁﬁmm%maﬂwﬁwmﬁm%mm
w1 :

{3)G'C'mmimmm%mﬁml
{4) GB fem % wh YRS wor ¥ WAL § IRm |

12.A bottle, filled with water at 60 °C, with its cap closed, is brought to moon. If
the cap of the bottle is opened there then

(1) water will start freezing in bottle.

(2 v;ntuwillstartbm'linginbulﬂe.

(3) nothing will happen to the water in botle.
(4) water will decompose into H, and O,.

w Wwve, Al 60 °C T wa § oun o 3w 1SS A W R, T WS Al IR
t | o} wd e oW w1 TR W R R @ |

(1) v % wFl IR w0 |
(2) sheve % Y v e |
(3) W % Wl W o o |
(4) %o 3 PR H, w0, 3 frefw & andm |
| | (3) (7vrn Over)
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13.A body of mass m is suspended from a fixad hook with the help of a massless wire
of leagth L and area of cross-section 4. If the Young's modulus of the wire by ¥
then find the frequency of oscillation in verticle line of the body which can be
started by pulling the body down by 8 distance /and then releasingit,

L v w4 G e ¥ qRf we R m g w s Reg fwh e g @
ST TR § TR R W A SR Ve Ve o e tan § fvg w20 w0
W & TR U AR e eR AR v A W R |

A mL R 1 (M4
) 2’\’; @ 2’\[2 C) V7 ) 22 Vmi

14.Two wires of same length and radius are subjected to the same load, One wire is
of steel and the other is of copper. If Young's modulus of stee] is twics that of
copper then ratio of elastic energy stored per unit volume of steel to that of
copper wireis . '

2w R wiwnfa e Prardt sk § 37 9 WA SR o R 4 | o6 R

wtﬁy_mm';iitt | TR, Whw & W R Wi R W & 8 =i a a

& it % il e e 1 ol W agam g
M2z @ 314 (4) 4:1

15.A vessel is filled with liquid. Adhesive force between molecules of solid and

 liquid is feeble in comparison with the cohesive force between the liquid

molecules. Shape of the surface of the liquid near the solid will be
(I)hmm ~ {(2) nearly vertical

(3) concave (4) convex

wmiﬂwttmuﬁm#hmmm ¥ Wi aniow
% 3o  qgy o & .mtmmmﬁ'mmm -

(DHéka . . (2) eFrer v
G)smm | (4) v

(6) | (Continued)
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1’&mr'uuinaupﬂhyﬁ|heﬁuhd;htof2.0mlnmoﬂ:ucnpilhymha
whose radius is one-third of it how much the water will rise ?
o st et 7 ar 28 0, Fwrk v wp & | Rt gEt i el i Rred A
o -t § v e Swf e wm 7 '
(1) 3em (2) 6em (3) 4¢m (4) 8em
~ 17.Two séparate air bubbles’ (radii 0.002 meter and 0.004 meter) formed of the
same liquid come together to form a double bubble joined with each other. Find
the radius and sense of curvature of the internal film surface common to both
the bubbles :
(1) 0.002 meter concave towards the center of smaller bubble
(2) 0.002 meter concave towands the center of bigger bubble
(3) 0.004 meter concave towards the ceater of smaller bubble
(4) 0.004 meter concave towards the center of bigger bubble
& Fem sem v & yoad el s o.oozm.mo,wm.timm |
03N Y, o RS Rroge T A O et S Jpe T e yeen wan

wmtﬁm&i?ﬁmﬁﬁmmﬂh&mmm

(1)o.mm.ﬁﬁ%3ugathqam |
(2)o.mm.m-¥wiath-am
(3) 0.004 A, Fwer B2 Joud & ¥ W) s
(4) 0.004 30, 3reeer wd youd) & HR W W

(7) | (Zirm Over)
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18.A spherical surface of radius of curvature R separates mir (refractive index 1)
from glass (refractive index 1.5). The center of curvature is in the gliss, A point
object P is placed in air. It is found to have a real image 0 of Pin glass. The line
PQ cuts the surface at point O and point PO = OQ. The distance PO'is equal to
o fie R 6 vitefi g8 arg (e 1.00) W wie (e |, 5) QW
wan | e fivg wiw i 1 g v o AR IRy PR Wi I et SR
gz ¥ | tan PO 8 W frg OR Wi § mw PO =00 § 1 g0 PO wor #

(1) 5R (2) 3R (3) 2.5R . (@)L15R
l?AnobjcctISpllcedatadmoflUcmﬁnmalmoHSD Fmdlhepmition
of the image ' |
& & Rl rm + SD R 3WR 10 43R, 70w gy val et & | iy o fRf om
(1) -30 cm (.3#,) (2) 30 cm (3R,)
(3) 20 cm (R 4;) () -20em (AA.)
20.The angle of a prism is A4 aid its refractive index is ool[ ) the angle of
minimum levistion is
o B W S m(-z-] T S L e v—
(1) (180 —-4) (2) (180+ 4) (3) (180 —24) _(4) (180 + 24)
21.In a two slit experiment with monocﬁmmﬂc light fringes are obtained on a
+ scroen placed at some distance from the slita. If the screen is moved by Sx107 m
towards the slits the change in fringe width is 3x10™ m. lfﬂwdllmbetwem
the slits is Iﬂ“mﬁndthewavelmglhoﬂlght

(8) ' (Continued)
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R waivr 3 o i e = I W R R A 9 20 Tl < w o
W IR o e R W $x10? o, R ¥ A ofweit 6 dud §
3x|o*rh.;ﬂhhilmtlﬁ&m‘itmﬁ@lﬁ"iﬂ.tﬁmﬁ
FRAFE 7

(1)4000A - (2) 6000A  (3)30004A (4) 5000 A
22.The polarizing angle for a medivmis ﬂ,whatﬁllbemecriﬁcal angle B(; for that

medium -

o Rt wram & Rl g wior 0, R Wt 3w s & R wiftvs w0, 7w A

(1) 8, =sin"*{tan®, ) (2) 6, =cos™ (cotH,)

(3) 6, =cos™' (tana, ) ; (4) 8, =sin™ (cot8,)

23, An engine producing a pitch of 400 Hz is moving towards a stationary person with
a velocity of 220 m/sec. The velocity of sound is 330 m/sec. The frequency of
sound heard by the stationary person is |
o W ¥, I 400 5 vy o o Ivaw w B, f R e i i 2204,
MAQMANWIAT® 0N T =D Ry hfd
(1) 1200 Hz (&) (2) 300 Hz (&) |

+ (3) 800 Hz () (4) 200 Hz (%)

24, Twa wires of radii » and 2~ respectively are welded together end to end. The
combination is used as a sonometer wire and is kept under a tension 7" The welded
point is midway between the bridges. What would be the ratio of the number of

loops formed in the wires such that the joint is a node when stationary vibrations
are set up in the wires

(9) ‘(Tm"Om) :
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2 R R o wm: - oo 20§ o R @ et g X R weh Rl o
RE T {1 5w wRi ) Sifvfien 3 yges e oY e wm F e s & e R
v Th | A w7 oy Ol Agalt % W T 4 ) R e F v e @ sh
oot R ek 5 AP 35 g v g o e 1 1 2 ) 9 e
tmmmm’i (ex) w1 e @

(1) 1:4 2) 1:3 (3) 1:2 " @) 1:8

25. A tuning fork and an air column whose temperature is 51 °C produce 4 beats/sec
when sounded together. When the temperature of the air column decreases the
number of beats decreases. Finally. when the temperature becomes 16 °C only
1 beat/sec is produced calculate the frequency of tuning fork.

T Tt e arg v, R e $1°C 8, W o gak ¥ e e w0l W 4 R
S, gk v ¥ 1 ofk Ay wew W A R o @, g A T A o) s
et W awr ATy W am 16°C!\imm%mﬁw€rﬁm ] F&mfﬂ

amwmﬁmmﬁm l
(1) 100 Hz (w) | (2) 50 Hz (wt)
(3) 200 Hz (&) (4) 150 Hz (s)

26.A ring of radius R carriesa charge + g, Atutohuge —q, i3 released on its axis
gently at a distance V3R from its center. The kinetic energy acquired by the test
charge when it reaches the center of the ring will be

(10) . (Contimued)
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w oy, fref) T R Y, @+ g wmdm R | o wllew adw — g, ) B WowE

¥z V3R o o ot & S & | v 6w % e g vt v
ammmm ?

1 44
() Zze, 438.;. ﬂf 2) d1s, :733
: .
3) 27, 2933 | 4) Gxs, 4xs, 3

. 27.The magnitude of electric field  in the annular region of a charged cylindrical

(l)hmﬂ;roilshmt

(2) Is higher near the outer }:ylinderllmn near the near cylipder

(3) Veries as - where ris the distance from the axis

(4) varies a5 = where 7 is the distance from the axis

7% ermRR Wi ¥ e s i g & @ i £ W ofe
(1) aht firgel v U W B

-+ (2) Fifen e ¥ g e ezt 6 gem ¥ e 3 % v A Regelt w v
4 ~ ,

(3}%t'mmtﬂrm%@t
() 1 % e sz A ol r o A0 Y

(11) - (Twrn Over)
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28.A charge ¢' is placed at the center of the line joining two equal charges g and q.
The systems of three charges will be in equilibrium if ¢’ isequalto
ﬂmmﬁwmm%mﬂgmmﬂﬁn 9" tar Rar @ | 3y s
W e sgr e R ¢ mum B

(1) —¢2 (2) —-qg/d (3) +g/4 (4) + g2

29. An electric dipole consists of two equal and opposite charges of magmmde
g =1.0x10"" C separated by d= 2.0 cm.Thcdipble is placed in an electric
field of magnitude 1.0x 10* N/C . How much work musianexternnl agent do
wmmedipole'endforendmﬂlmﬁomﬂwpoaiﬁonofalimm 6=0°
v fge Rgw 2 s ww Rl sl g =1.0x10 m#mtﬂh(mﬂ)
¥ d=2.037A, & 70 ¢ a fga &% 1.0x10° Rz /e ¥ van § | fadt wmdl
mﬁﬁm@-ﬁmmﬂ@mwgﬂﬂmm:ﬁm-mm

IRRP AT o= S Bt 7 '
(1) 4.0x10 J (9®) (2) 2.0x10™ 1 (@)
(3) 0.5x107 J () - 4)Boxi10” ) (@)

30.Find the electric field at a distance » meter from an infinitel '
uniformly charged rod with linear density 4 C/m. ‘ 7o ven
T T § i gy vaeh st s amh wy, Rrewr smam v A Tona/

mt,ﬂrn@mmmmmmmi
R | 2
0 73 @ ™y
ol B 4
(3) 4xc, r (4) 3;;:,7
(1) . (Continwed)
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31.A capacitor of capacitance 10 pF is charged up to 100 volt and the battery is

removed. Now this is joined to another uncharged capacnm in parallel system.
The common potential becomes 40 volt. The capacitance of other capacitor is

T* 10 uF mtmﬂ 10 o SR st wd it aw
- ?mﬁ&um&ztﬂnmmﬁmﬂmmt | Iwafe fi 40 aez B
awn & | gEt wiey 6 ofen @

(1) 5 pF (2) 10yF (3) ISP @) 0F
32. Three capacitor of capacitances 3 uF, 10 uF and 15 uF are connected in series
to a voltage source of 100 volt. The charge on [0 uF itor is

3 iF, 10 pF oW 1sppiul‘l=m'm&ﬁirlﬂm¥'t | v P moahﬁisﬁga
wiy & gy v & | 10 pF % |y W amw

(1) 50 pooulomb (ATER FAX)  (2) 100 pcoulomb (FTER FEIW)
(3) 150 muimb (TSR W) (4) 200 pcoulomb (FTER W)

33. A wire is to be stretched from a silver piece of fixed mass. For which combina-
tion of length / and area of cross-section A resistance of the wire will be mini-

mum ?
Rffya 2509 & T & TF 768 1 T 9§ | T /a9 AR 3§ 99%a 4

¥ R vonl 8§ | Reamr TR se W B 7 -
(1) /and (m)la | (2) 2! and (") 472
(3) % and (1) 24 (8) 31 and (a) 453

34.The temperature coefficient of resistance of a wire is 0.0012S per °C, Its resis-
tance at 300 K is 1 0. At which temperature its resistance willbe 2 07
% TR 1 RAY a1 Ui 0.00125 ¥R *C § 1 300 K ® v Wi 1 ad | fe
i fra MM = ww 3w 208m 7 .

(1) 1100°K (2) 127K (3) 1400 'K (4) 854°K

(13) (Tsrn Over)
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35.A cell has an omf 1.5 V when it is connected across an external resistance of 2 o
Ihemmmllpotuntm diffwanuﬁ!llt_o 1 volt. The external resistance of the cell

13
% ¥ W fagy aww W\ 1.5 VA T 2 0¥ SRR % AR A g
AW AR W I Ve | 40w sfw s g —

miQ (2) 15 0 3)050 420

J&A.pmtonmdvingwhhaowvelwitymtb:ougha region of space
- Without any change in the velocity. I £ and Brepresent the electric and magnetic
ficlds respectively, which this region of space may have, then indicate the false
statcment from the statements given below, - .
s 72 Frrn & weren o o R o & W v & gt 3w 3§ 9 st

v | W Evw B T var i g 1w ot W waf wt o B e
fawnwm R oY 7 |

(1) E=0,2=0 . (2) E=0, 820

(3) E»0, B=0 (4) £20, B20
37.Which of the following is not & basic Iogic gate

FRtavhamafmieal) 2

(1) NOT gate (%) | (2) OR gate (%)

(3) AND gate () (4 XORgate (%) -

S&Ammofsnﬁnimpueﬁvuﬁmm&eﬂw&onimwvmmofmh-
tance 10 0. If a potential difference up to 50 Viatobemmumdwiththisgam-
nometer then ﬁndihevalheofﬂminohmswbcadtiéd_inmwiﬂllt

(4) 5 (Continued)
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% 10 30 R ) ST S et i v ey P e & |
E 50 T 1 e T Rk o S s
wra Fifdre

(1) 990 (2) 9990 (3) lﬂdlﬂ (4) 1010

39, The impurity atoms with which pure Germanium shou]d be doped to makﬂ aN
type semiconductor

(1) Sodium "~ (2) Boron
(3'.} Aluminium (4) Antimony

gaﬁhﬁ%ﬁ%hmw@%mhaﬁﬁsm N TR &
wdawrs ¥ wge T

(1) arfam ) @
(3) T (4) Tt

40.1f for a transistor the common emitter cutrent gain is 122,75 then find the
common base current gain ‘
et Rt ¥ o vy Sl aromfily o 122,75 & < 3% o avafe
R aRrafy et feEr e 7

(1) 0.975 (2) 985 (3) 0.982 (4) 0.972

(15) . ' (Twrn Over)
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41.0n increasing the temperature of 8 reverse biased P-N junction Germanium
diode the reverse saturation current increases because

(1) The mobility of charge carrlers increases
(2) The minority carrier concentration increases
(3) The majority carrier concentration increases
(4) Themobility of charge carriers decreases

Reh P & o P-N i wray, 3 s saew afAR 8, w e v oo
¥ areht smen aftafy W aw W e g omn & wi s

(1) 7w areel W wremnen ag amh 4 |
mmmmwﬁmnmt (
(3) g W Ayt 6 wwem wg w4
(4) sy wrew] ) wrere vz A R | I

42.The maximum kinetic energy of photo-electrons emitied from a metal surface
when photons of 6 eV fall on it is 4 6V, The stopping potential in volts is

T T W T TR 6 eV It 5 B Fred § o ween -yt ) siftves i
at 4 ¢V R | frdet fiv ez 3 |

()2 (2) 6 (3)8 44

(16) - (Continuied)
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43.The intensity of radiation emitted by sun has its maximum value ata wavelength of
510 nm and that emitted by the north star has the maximum value 350 nm. If
these stars behave like black bodies then the ratio of the surface temperature of
the sun and the north star is -
T T Ik R 5% fiwm 510 nm A aindef w sftrwan R oo sed an g
Jrafofy o A1 e 350 nm ® frFem & (IR 9w R o gt 6w =T
Qo ot @ o Il m & gut F e w5 orem @

(1) 0.69 (2) 0.83 (3) 1.46 (4) 1.43

44.1f elements with principal quantum number n>4 did not exist in nature the
maximum number of possible elements would be

R wHfd % ew wivew W n>4 ¥ o T B A dva v e 4 o B
(1) 30 (2) 80 (3) 60 @50

45.The wavelength of X X ray line emitted from anticathode of atomic number Z is
approximately proportional to
Z o] e 1 aew & Ak & sl &, X Rl @ atrded e awrend
ﬁ -
! ]

(1) (2-1) ) (z-1y (3) (z-2) 4 (z-2f

46.1f the rms value of the AC voltage across the secondary of the transformer in a
" half wave rectifier is ¢ V the maximum DC voltage across the load without
any filter is about
ow o1 am et et B ffras it ofts; el oo (Tat) = of me
® (FmweE) favm w1 o 9 Qe § fim () m Re (Bd) Rva w wm
FTET w2 g o o (R shea i g R 7 -

(1) 4V (@) (2) 8 V (a2)
(3) 6 V (W) (4) 10V (de2)
(17) (Turn Over)
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47.A radioactive substance has half life of 60 minute. The fraction of the substance
that will be decayed during 3 hours will be _
qm’cﬂu’lﬁuwiﬁa?m 60 iz & | 9 w12 Wiz R vl o @ wReh 2
(1) 12.5% (2) 25.5% (3) 62.5% (4) 87.5%

48. The nuclear radius of an element X3¢ ig 7.731 fermi. The radius of the nucleus
ofthe element Y* will be
e X2oam & it B s 7,731 S &9 Yo am & ifive Y Rom fseht dnfr 7
(1) 3.865 fermi () (2) 2.577 fermi (W)

(3) 22.193 fermi () (4) 15.462 fermi (%)

49, The reason for production of energy in nuclear reactor is

(1) Nuclear fission (2) Nuclear fusion
(3) Radioactivity (4) Chemical reaction
fret rftrfirg frdee ¥ i Soow 913 W Frw

(1) miftefi fyaves (2) FivbR o

(3) e (4) et st

50.An o particle of energy 4 MeV is scattered through 180° by a fixed gold (Z=7%)
nucleus. The distance of closest approach is of the order of
4 McV i W1 @ g %91 @& fRR 81 (2= 79) & wiftrs | 180°% wror @ it
gt | o ¥ Afis & Frwzm vla € 70 T HRwE R

(1) 10 em (R) (2} 107 ¢m (|3,
(3) 102 em (R.501,) (4) 107" em (R,3,)
(18) {Continued)
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SECTION-IT
oe-l
CHEMISTRY

1. Which of the following is not true ?

(1) B(OH), is acidic (2) B(OH), is basic

(3) AI(OH), is smphoteric (4) Na(OH) is basic
:CRE ki |

(1) B(OH), 3t & (2) B(OH), & #

(3) AL(OH), Taidhe } (4) Na(OH) &7 &
52. Dual nature of matter was predicted by

qgrd & 13 wpf e aman ?

(1) Neils Bohr | (2) de Broglie

(3) Heisenberg (4) Albert Einstein

_ 83.JUPAC name of the element of atomic number 108 is
o] FUREE 108 IR 4 W MmN, T 2

(1) UnO (2) Uon (3) Onu (4) Nou

54. Which of the following is the strongest oxidizing agent ?
A o fae sadhers X ?

(1) NeBiO, (2) KCr0, (3) KMnO, (4) PYO,

(19) {Turn Over)
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§5. Diborane contains
(1) Seven covalent bonds
(2) Five two centre-two electron bonds and one three centre-two electron bonds
(3) Two three centre-two electron bonds and four two centre~two electron bonds
(4) One four centre-three electron bonds and five two centre-two electron bonds
T i §
(1) ¥ wEaaRTe v
(2) 9 T F3-3) WIRE ¥U N % 0 - wowgE vy
(3) 2 A ¥z-3 WIRF W T R D -0 WRE
(4) T W ¥ WO e v ) -2 v

56. StaPi!i}y of chlorides in +1 oxidation state of elements of 13 group of the
peniodic table increases going down the group because of

(1) Inert pair effect (2) Covalent bond formation
(3) Ionic bond formation (4) Coordinate bond formation

s et & s e 3 ol ¥ +1 st s # wehow @ wnRe
MR aF | ageh § ) P & " e

(1) fva gy (2) SERs W W
(3) 3wl vy Wl (4) ﬁuﬂﬁzwuﬁ
(20) (Contimued)
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&7, Assertion A : Hydrolysis of dimethyl dichloro silane gives dimethy] dilrydroxy
Assertion B : zl:nn:;nsutiun of polymerization of dimethyl dihydroxy silanc
gives straight chain polymer.
(1) A and B both are correct
(2) A is correct and B is wrong
(3) A and B both are wrong
(4) A is wrong and B is correct
Assertion (3X) A : ﬂmrf@mwuwﬁm%mmﬁﬁamw
¥qa

Assertion (917) B : sRfva s i 1 H2vA a8 W
iy < aren g T R )

(1)Awn B whi ¥
2)Aw@ R, Brem R
(3) A v B 3 rem &
(A I BEd }

88.Oxidation state of Ni in Ni{CN), is
Ni(CN)! # frivm w1 i arrdienoer v &

(1) 2 @ 4 (3)0 (41

(21) (Turn Over)
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59. Semiconductors have conductivity in the following range :

tfigew foe b 3 e T

(1) 107 -10* ohm™'m™ (2) 100 -10* ohm™'m™'
(3) 10° -10" chm™'m"" (4) 10°" =10 ohm™'m"™
(1) 4F 5d° 6s? (2) 42 54" 6s?

(3) 4" 5% 65° (4) 41 5d' 6s'

61. Which one of the following is salicylic acid ?
Wit § we-w dfoffoms s d 2

OCH 0
COOH COOH

OH COOH
(3) (4)
O O
OOH COOH

62.In the given reaction R - NH, SRR EN L, (X), (X) will be
(1) R-CN (2) R-NHOH (3) R-NC (4) R-NCI
@ i wfBRN R - NH, —/P K, (v} 3 (X) g
(1) R-CN (2) R-NHOH . (3)R-NC (4) R-NCI

(22) (Continued)
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63. Which of the following molecules is chiral ?

ifafar f 3 e m o Fw@ R 7
COOH COOH

| (2)

W H H OH

OH

OOH " CH,
COOH COOH

(3) (4)

H OH H—T1—Cl

COOH cl

64. Which one of the following is S configuration ?
g mshmmt ?

COOH COOH
(1 (2)
H———OH HO- CH,
CH, H
COOH COOH
(3) H,c——O0H (4) HC -H
H CH

65.In the given reaction C;H,CHO+ BCHO —=24 () (X) will be

(1) C.H,COOH +CH,0H (2) C;H,CH,OH + HCOONa
(3) C,H,000Na + HCOONa (4) C,H,CH,OH+ CH,OH

(23) (Turn Over)
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& wf affiFn C,H,CHO + HCHO —BLMM_, (x) 3§ (X) W

(1) C,H,COOH +CH,0H (2) C,H,CH,OH + HCOONa
(3) C,H,COONa+HCOONa (4) CH,CH,0H+CH,0H

66.Number of unpaired electrons ip 0,, 03, O; and O are ;
0,, 0;. O; T O} 1 Ay WRi KN sen = R .

(1)1,2,1,0 (2})1,1,0,2

3)2,1,1,0 (4)0,2,1,1

67. Group precipitating reagents for barium group cations in qualitative anilysis are
e feaetyor & Aem W ¥ AR ST F st wY ¥ R A i

(reagents) §
(1) NH,CL NH (OH) (2) NH,OH
(3) (NH,),CO, (4) (NH,),HH PO,

68.Assertion A : Ni(CN);" is square planar and diamagnetic.
B : Ni* inNi(CN);" has dsp? hybridization.

(1) Statement Ais true and B is wrong.
(2) Statement A is wrong and B is true.
(3) Both A and B are true.

(4) Both A and B are wrong,

(24)

(Continued)
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Assertion A : Ni(CN); h%m%h
B : Ni(CN)! ¥ Frer dup? anfirangdert tie & |
(e ATt e BmERY | |
QR ATt S BER R |
()% AT R BT vl & |
(4)F R AT e B et |

69.Number of unpaired electrons in gaseous Cr™*, Mn™, Fe” and Co™ are .
Mwm Cr*, Mn™, Fe** a1 Co» # mmﬂmma

(1)3,4,5,4 | (2)4,5,4,3
(3)5,4,3,4 (4)4,3,4,5

70.Last element in the actinide series is
e At i o v d

(1) Pa (2) Pu (3) Cm 4) Lr

" 71.1nCo(NH,),CL, the secondary and primary valencies are
Co(NH,),Cl, # 3w 7y wrpsels i Bt &

(1) 6,3 2) 4,3 (3)5.2 4)6,1

(29) (Turn Over)
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72. Dichlorobis (ethane- |, 2-diamine) cobalt (Il is

Tt (V-1 2-aefiv) W (1) ¢

(1) [CoCl, (en), T (@) [Co(en), 01, ]

(3) [Cocl, (en), T (4) [Cofen),&1,]"
73. Which of the following is an outer-orbital complex ?

R % w1 g arffem e sy ¢ 7

(1) Co(en)’ (2) Co(CN);

‘(3) CoF}- ' (4) [Coca,(m),]'

74.M—C bonds in the metal carbonyls contains
(1) o -bond onty (2)Iz-bondmly
(3) o-and % -bond (4) o-and 5 -bond

Uy wteR § am-wnks W aen d

(1) %™ o -w9 ' (2)“ -
(3) o~ W1 g-wy _ 4) o1 § w4y
(26) :

(Continued)
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7S.Which of the foﬂowin; is true 2
(1) FeF; is high-spin complex and Fe(CN)," is low-spin complex.
(2) FeF} islow-spin complex and Fe(CN),~ is high-spin complex.
(3) Both FeF}- and Fe(CN);~ are low-spin complextes.
(4) Both FeF>- and Fe(CN). T —
frrdvrmal 7
(1) FekS mﬁuﬁathlpe(cm: i e aRa st
(2) Fer: w4 T wiem sy & oW1 Fe(CN), mﬁwﬁa s

@ FeE- a1 Fe(CN), it w0 fRm afitm s 4

(4) ReF;” W Fo{CN)," 3t vy fida afemr ok

76. Which one of the following decolourises Baeyer reagent ?
frafirien i A Wh-m wr AftAdE W Tl w d 7

(1) CHOOOH -(2) @ (3)CH,~CH,  (4) CH;=CH,

77. Outermost electronic configuration of the transition elements is

siwwner weat W wreh wrigH e P 8
(1) (n-2)f*d* ns? 2) (n-1)d""ns'™?
(3) (n-1)d"ns' @) (a-1)en
| @ (Turn Over)
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78.The shapes of H,0, NH,, CIF, and }QF‘ are

(1) Pyramidal, Bent, T-shape, Square planar

(2) Beat, Pyramidal, T-shape, Square planar

(3) T-shape, Square planar, Bent, Pyramidal

(4) Square planar, Bent, Pyramidal, T-shape

H,O, NH,, CIF, a1 XeF il W rft §

(1) R, ¥, B-mpl, v e

(2) ¥, R, 2-smel, W S

(3) A-spfl, AR R, ¥, Rrafvea

(4) B W, ia Rofima, &-ampf |
79. Bond energy of the halogen molecules has the following order

Q@hia Fa v ot w fres wn

(HF,>CL,>Br.>1, (2) Cl,>Br,>F, >,

(3)F,<CL>Br, >, 4) ar,:vt:l,ﬂ,:-f,
80. w&mmgnwnﬂo?

(1) Ni(CN)" | (2) Ni(C0),

(3) Ni(CN)Y (4) NiCIF

(28) (Continued)
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$1.Correct outermost electronic configuration is

it wielh e s &
(1) Cr(3d°4s') | (2) Cr* (3d’48')
(3) Cv’ (3d°44') (4) Cu(3d"4s")
. 82.Number of electrons, protons and neutrons in clement ®X are
TR $X # R, TR v R 6 e §
(1) 35, 45, 35 (2) 35, 35, 45
(3)45, 35, 35 (4) 35, 45, 42

$3. In the ground state of the atom, the orbitals are filled by electrons according to
(1) Aufbau principle (2) Hund's rule
(3) Pauli's exclusion principle (4) All the diree
et wew ¥ s vy W oSkt P % arrar W R
(1) s R (2) FE
(3) el & wwrmRgen Rz NOL.EC B

84. Which one of the following has light flesh (pink) colour ?
Rt & Wi et wiw (o) w7

(1) SbS, (2) HgS (3) BiS, (4) MnS

(29) (Twrn Over)
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8%, Outer clectronic configuration of Thallium is

Afam w1 sl WwE
(1) 632 6p' (2) 5d' 65
(G)6s'6p’ (4) 4d’ 6¢°

Amoag the following which is the structure of TN.T?
Fﬁi’tﬂma ® v d-H g 7

N
iy -

ST.Slwe(m)gprpuwlphmMuhydmiﬁ

(1) Tetrahedral (2) Squarc planar

(3) Square pyramidal (4) Trigonal bipyramidl

SR TFhe Femgz Hit A (ﬂm)’ﬁﬁ 3

Mz (2) A DR

(3) v R (4) Rrivrer amiRufreer
30)

(Continued)
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$8. Which of the following bas T-shape ¢
R % fswf &-ampfa & 7

(1) BF, ) NF, (3).FF, @ cﬁ,
89. Zr and Hf have almost identical mmicmdﬂm of |

(1) d-block contraction (2) lanthanide contraction

(3) Both are transition clements  (4) Bothbelo:;gtothemem~

mﬁwwMﬁmﬁwﬁﬁmgﬁmtﬁntm

(1) $-vomes Ry (2) dwres R

@) fifve F & (4) &FlT v W & wa f
99. Intense violet colour of potassium penmnpmle is due to

(1) Intraligand wransition . 2 M,mﬁm

(3) Charge transfer transition (4) £-f transition

ﬁtﬁnwwﬁﬁzmﬁhﬂhﬁwiﬁiﬁsmf?

(1) FoRvv=g 3ifre (2) - ZiRkwA
(3) wr grave Zifeem (4) oB-uw Zils

(31) (Turm Over)
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91. In Zn(EDTA) complex, ligand is

(1) Hexadentate (2) Tetrsdentate  (3) Bidentate (4) Tridentate

fis v QA i o ¥ Rt ¥ |

(1) Rwar2 ) TRe (3) w2 (4) TR2
92, The complex [ CrCl, (OX), |~ has |

(1) Cis-isomers only (2) Trans-isomers only

(3) Cis-, trans- and optical isomers (4}‘1‘ra:u-mdop{icalim
IRw Y [Crt;!,(ox);]" v §

(1) ¥ frw R |  (2) ¥ g v

(3) Rer-, Zw- 1 i g (4) 2t i Qe

93.MmiammbMWex?
fr= & W 3= sfilze AR g 8 7.

(1) MiCE  (2) FeR" (3) CoF" (4) Ma(CN);
94. Which one of the following is tetrahedral and paramagnetic ?
fra ¥ Wi e To el g 7
(1) NiCI- () Ni(CN), () Ni(CO), (4 Mi(CN);
(32) (Continued)
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93. Hemoglobin is coordination compound of
Fareifie fewm wemiR dfs 7
(1) Mn (2) Fe . {3) Ru (4) Ni

96.Oxidation number of cobait in K[Cu (co), L:;
K[Co(C0), ] # wrarre it sweite s e

(1) +1 (2) +3 (3) -1 4)0

97. Which one of the following is Z configuration ?
W} - Z Rk 7

B ) B

H
H\ ,CH, Hy 4
® e SNa ® pet*Na

98. Which of the following has largest dipole moment ?
i 3 firm 7 I IREm A & 7
(1) HF (2) HI (3) HBr (4) HC)

- 99, The dsp? hybridization for square planar shape uses d-orbital
AR AR Wrpf & Rrg #1 w d- mﬂmmiﬂrﬁt ?

Mméy @, O RN OF
100. Pick up nucleophile among the following : |
i & -t TR
@
(1) CH=CH,  (2) BF, G)CH-CH,  (4) AL

(33) (Turn Over)
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SECTION-1II
ors-M
BIOLOGY

101. cw cells are closely associated with
(1) Guardeells  (2) Trichomes  (3) Vessel elements  (4) Sieve element
we-ve e g A gh da g
(1 oo S ) vee (3 e (4) e

102. Closed vascular bundies l!u:}'::

(1) Phloem (2) Cambium  (3) Vessels (4) Xylem
T WA Wi ¥ el wr a §
(1) T 2) ¥y (3) W (4) I

103. Body of ovule is attached to funicie at a point called :

(DHilem  (2) Micropyle  (3) Integuments (4) Chalaza
daex W wlt FFfe ¥ five o v e oo §

(1) g% (2) ¥R 3) s (4) v

(34) (Continued)
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104. During microsporogenesis, mejosis occurs in

(1) Endothecium | (2) Microspore mother cell

(3) Microspore t:emd (4) Pollen grains
e RRre ¥ waw s oft R fwet o §
(vt (2) @y STy Ty Wi
. ti)ﬂmﬁﬂ | . (4}mw?1
105 Tapetum is found in
yowie (2) Anther
(3) Ovary , (4) Filament
Son gl arw wmn § |
(1) W | (2) T ¥
(3) e - (4) -y
106, cmmm-auhmm |
(1) Pisiom sativien | (2) Oenothera lamarckiana
(3) Mirabilis jalapa (4) Lathyrus odordtus
(35) | {Turn Over)
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ol - fiswl dt ar omh &
OLL K
(3) Rofftry T
107. Tix ttis
(1)Reciprocal cross -
(3) Back cross
Tex tFR Awmt
(1) st wre

) - B

(2) s SRR

(4) Wwrra sigiew

(2) Hybridization

(4) Test cross

(2) Trefiadea
(4) d=-ww

108. Peptide synthesis inside a cell takes place in

(1) Chromoplast (2) Ribosomes

(3) Chloroplast (4) Mitochondria

e 3 Yemm-avdve fiset oo €

(1) e | (2) uﬁcerm

(3) wfty vm (4) m@wRm
(36)

(Continued)
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109. Which of the following steps in transcription is' catalysed by RNA

polymerase 7
{1) Initiation . (2) Elemgation
(3) Termination (4) Both Initiation and Termination

m-iﬁni%mmmmm%menlmt
(1) ftraw (2) Ve
O (4) PR @ T O

110, ;rhnunindaddmuwﬁmlmﬁ atits
(1) 5 -end @) y<d () Asticodonsite  (4) DHU loop
AR A 1= Fo T & TR TR OA 2 |
(1) §-fx (2) 3 -fwy G)hwEAd [4):&.%4?3:#

111. *Origin of Specics’ was written by

(1)Dawin  (2) Lamarck  (3) De Vries (4) Mendel
'FiRRA e wikflor fem R |
(1) srfd= (2) Sk (3) f-ifx - {4) Heem

on C (emoven
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112. Morphin is obtained from

(1) Rawvolfia serpentina (2) Papaver mmm
(3) Curciema longa (4) Argemone mexicana
PSP G ———
(1) THHReN i 2) da WS
() ¥y  (4) oAb R
113. Polyp!oidymbchmwﬂumlyby‘
(1) Lincbreeding (2) Inbreeding  (3) Seifpollination  (4) Colchicine
8 ¥ 2 arfererr Al g 6 o Tt R

(Hawifen  (2) v-fifem
114. Spirulina is

11) Biofertilizer

(3) Biopesticide

et e

(1) ¥ %

(3) S iz

(3) SH-P (4) =PRRW

(2) Edible fungus

(4) Single cell protein

(2) W-wrE

(4) Rvwer o Wi

(38) (Continued)
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115, Which of the following is not a biofestilizer ?

(1) Nastoc (2) Mycorrhiza
(3 Rhizobium | . (4) msacmﬁn
Rl W e shos i 4 7
(1) wes (2) TR
(3) el (4) SRR

136. 'Molecular Scissors' used in genetic engineering is
(1) DNA ligase (2) DNA polymerase
(3) Helicase | (4) Restriction endonuclease
Nfew v Pl § wge B3 @ ‘mitnrer Rrord' v ¥
(1) R0, ARTH () Bt e
()i | _ (4) R Vet

117. DNA fragments are joined by

(1) Ligase (2) Polymerase
(3)Helicase (4) Gyrase

(39) (Tirn Over)
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BFX, ¥ g vt g9 §
(1) o (2) e
(3) YRR | (4) TRY

118. Energy transfer from one trophic level to another is
s 7R S 3 T8 i A i Rt ot 1 v e

(1)5% (2) 15%
(3)20% . (4) 10%
119. An inverted pyramid of biomass can be found in

(1)Grassland Ecosystem (2) Marine Ecosystem

(3)Forest Ecosystem | (4) Tundra
w1 3 ffrg Rt gm0 qem d

(1) wrerdty mRfRfvs won (2) e7f TR 7=
(3) e TRIERE T Ok !

128, Which of the following is not a producer?

(1) Spirogyra (2) Volvox
(3) Nostoc (4) Agaricus
(40)

(Continued)
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P ol arw i § 2
(1) ®rtir (2) P
(3) Trer (4) ew

121. 'World Biodiversity Day' is

(1) June S (2) April 22

(3) September 16 - (4) December 29
fara da A i v

(1)« 9 (2) 3 =
(3) 25 Rveram (4) 3 Rmmw

122. Drug Reserpine’ is obtained from

(1) Pinus (2) Rauvolfia
(3) Withania (4) Atropa
et g Read s e d
(1) e (2) TewfesTr
(3) Adfa (4) g
(41) (Tern Over)
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18U/118/8 (1)

123. Splitting of water in photosynthesis is called

(1) Dark Reaction (2) Photolysis

(3) Electron Transfer (4) Phototropism

K% e ¥ e v frarees wemm

(1) b S (2) R

(3) W AR (4) wdpfiom
124. Kreh cycle takes place in

(1) Chloroplast (2) Ribosomes

(3) Mitochondria (4) Endoplasmic Reticulum

¥ o fred g d

(1) ¥ Tam (=idemree) (2) TRAER

(3) wrrRv R (4) wEroTRfie Hgem
125. Example of saprophytic angiosperm is

(1) Cuscuta (2) Orobanche

(3) Monotropa (4) Loranthus

(42) (Continued)
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18U/118/9 (1)

garrftel sl 1 ST R
(1) wager (2) de
(3) AT  (4) atew

126. Fibrinogen is absent in

(1) Blood (2) Serum

(3) Plasma (4) Serum and Plasma
wryfierA fseet aff v orman & |

()™= (2) i

(3)==n (4) @m i

127. Silver nitrate solution is used to study of
(1) Nucleus (2) Endoplasmic reticulum
(3) Golgi apparatus (4) Mitochondria

mmﬁaﬂwﬁMaﬂmﬁMWt

. (L (2) a0 weeht v
(3) Tl AR (4) ARl
(43) (Turn Over)
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128, Which of the metal causes Itai-Itai disease

(1) Cobalt (2) Mercury
(3) Chromium (I4) Cadmium
few arg % wrm -y dn dm &

(1) we (2) whd

(3) wifaw (4) Ssfzm

129. Radula is found in

(1) Pilasp. (2) Chitonsp.
(3) Lamellidens sp. (4) Pinctada sp.
tggen qrn I §

(1) qmeen w4 (2) wnEia o,
(3)arfifad= =, (4) Rrwawe b,

. 130. Yellow spot's occurs in

(1)Eye (2) Heart
(3) Kidney (4) Bar
(44) (Continued)
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15U/118/8 (1)

dray firg fawt v o &
() ¥ (2) &3
(3= (4) w7

131. A true coclom is lined on all sides by

(1) Ectoderm (2) Mesoderm

(3) Endoderm (4) Ectoderm and endoderm
@ wrg 2wTm o W & et weh &

(1)wged @ (2) v @

(3) s & (4) gl i simed

132. Five kingdom approach of classification was suggested by

(1)R. H. Whittaker (2) Carolus Linnaeous
(3) Casper Bauhin (4) Thomas Johnson
Fflarw ) ula wm g ® gwwn @ @
(1) 3R, o9, w0 * am (2) & fofrem & g
(3) e wRfdm & g (4) e Wes & g
(45) (Torm Over)

L]
gcollegedunlaa
India’s largest Student Review Platform

T
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133. Which of the following is not & part of a transcription unit in DNA

(1) Promoter (2) Structural gene

(3) Inducer (4) Terminator

Prefrforn % A 2 o To Yo Y RYER w1t W W ft R

(;)sn\z{ (2) sveerE oA
(3) P (4) T

134. The largest ecosystem of the carth is
(1) Biome (2) Biosphere
(3) Hydrosphere (4) Lithosphere
gt 7w g shiRifaE-an & -
(1) wras (2) Famogmn
(3) e (4) TEmEd

135. Zoological name of domestic dog is

(1) Felis indicus (2) Equus caballus
(3) Canis familiaris (4) Canis vulpes
(46)

{Continued)
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16U/116/ (1)

- RN W 7Y Al T
(1) ¥rm plww (2) pow #der
(3) #Fw Sfifernite (4) $Aw yevw

136. Heart of Heart is

(1) SA node (2) AVnode

(3) Bundle of His (4) Purkinje fibres
wEERt

(1)SASTE (2) AVAlE

(3) wwge i fr (4) FERY gt
137. The special contractile protein actin is found iﬁ

(1) Thick filaments of A-bands

(2) Thin filaments of I-bands

(3) Both thick and thin bands

(4)InZ line

(47) {Twrn Over)
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160/1169 (1)

Rty wgrerrefter S0 o
(1) A-Tog & 5wyt §
(2) 1-twg ¥ T gt &
(3)52 i ok 2yt dwg
(4) Z-orga
138. Duct of Wirsung is associated with
(1) Gall bladder (2) Pancreas
(3) Salivary gland (4) Urethra
T @ sfevm B & wrarg ot 4
(1) Reerer (2) wrery
(3) T (4) st

139. Haemophilia is a hereditary disease. The gene for this disease is located in

(1)21* chromosome (2) All autosomes
(3) Cytoplasmic DNA (4) Sex-chromosomes
(4%) (Continued)
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16U/115/9 (1)

TSR 1% SwET A & ) v Wt & S s R
(1) 2131 Tporga (2) v i
(3) Wit et feomon. (4) R g
140. Which one of the following cells produces IgM antibodies ?
(1) Virgin B cells (2) Developing B cells
(3) Mast cells (4) Macrophages

R 3 4 # A SHifed sndefar’ (1gM) ‘whatde 2 s & |

(1) sn 4@ P (g)mm-aﬁﬁm
(3) TR WA (4) s
141, Omithorynchus isa
(1) Fossit bird
(2)Flightless bird

(3) Connecting link between reptiles and birds

(4) Mammal

(49) | (Turn Over)
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16U/116/8 (1)

AhFtere i d os b
{1y<ar= 9t

(2) 3@ i o

(3)9sf nmmtﬁaﬁmm
(4) Tt

142. Paralysis of muscles of mastication would be due to loss of function of the
cranial nerve

qr el wtedfinl ® o om e W ) F S A ¥ S % W
g §

() I 2) v (3) v 4) X

143; Liver fluke belangs to phylum

(1) Aschelminthes (2) Platyhelminthes
(3) Annelida (4) Ctenophora
TEa o Ty & weafm d
Q) it (2) AR
(3) hfersr (4) &
(50) (Continued)

L]
gcollegedunlaa
India’s largest Student Review Platform

T



144, Graaffian follicle is found in
(1) Thyroid (2) Ovary
(3) Adrenal (4) Parathyroid

Ieaa giewm fo & qror et &)
(1)rzaf (2) ster
(3) siftrgw (4) wag

145. Fertilization in mammals occurs in

(1) Fallopian tube (2) Uterus
(3) Ovary (4) Vagina
v & frdes e o g §

(1) e fre (2) mbw
(3) v | (4) 3

146. Long lasting deficiency of Vitamin D results in

(1) Osteomalacia (2) Scurvy
(3) Berry berry (4) Pemicious;anmiu
(51)

18U/118/9 (1)

(Turn Ovcf)
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18U118/9 (1)

zfim ¥ H onaft aafly 7% amh Wit & s @y fox 3 d
(1) AR (2) i
(3)¥Q-¥0 (4) Yehftrrm hiftem

147. Albinismisa

(1) Autosomal recessive (2) Autosomal dominance
(3) Sex linked recessive (4) Sex linked do:ﬁimce
T &

(1) e srmit (2) SETETE WA
(3}%% weft (4) fém v ey

148. In Sickle - cell Anemia disease, the glutamic acid at the 6* position in p chain
of hemoglobin is replaced by

(1) Leucine (2) Histamine
(3) Valine " (4) Proline

Sarer-wfry weam ol § wef o direife ) Jaer § wek
A R e g sftrenfm e v

()R (2) Reaf
HEm (4) Trefim
(52) (Continued)
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15U/118/9 (1)

149, Cytochrome oxidase deficiency in mitochondria causes
(1) Menke's disease (2) Kearns-Says Syndrome

(3) Leber's Optic Neuropathy (4) Jacob's Syndrome

ARRRITAT # AR TR S e I AT war d |
(1) %= T | (2) SR-8S Hormo
(3) et e Afe I . (4) S s

150. The criss cross inheritance is seen in case 9f
(1) Autosomal genes (2) Sex linked genes

(3) Dominant autosomal genes (4) Transgenes

fr= & ﬁmmmamw&

(1) #idabm Wi | (2) S T e

(3) sifr sidee = | (4) g=wlt=a |
(53)
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(v v & o ST g e e o Ol v Ao vl / et -tz 4w @ 0 Al

1, Wm0ttt firraimiwhgt st
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7. mﬂ;‘wimmmﬂmmm#uhmﬁmunmwmm
oA |

8.  we-yfRm ¥ wdw v & wr e a A R € ) e e & fefbw ane & AW ave? am-
uﬂnﬂrﬂiﬁﬁﬂwdm—w&mwwﬁ#m*wh#w
wwii . .

9. wiw e %I E ik v vw ) qu @t (e s T W TR A R T s e
P W T WE IR TER W WA | b

10. ar{ A wr et pnr 2R yov wewr 3 o awar 8 | AR 3 fel vR W oo i e
£, A vl ofts & g R W wh gt o awh vy 34 3wt ® e aiw R

11, & wri & AW ve JRW & arw & iy e qu e siftm et yu v |
12, 0w & 350 Y o, . WX, IW-o¥ P70 v § sty
13, wwr g 03 @ ord vhur 9T A e I B 3 ofl o |

14. gmmmﬁ wgfnt wrel W iy e #, @ ey Tarefiemen g Avdfn g W@ vt
|
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